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Direction : Answer the following questions by selecting the most appropriate opltion______———
is is based on

1. PR e fagdar  (Applied
Behaviour Analysis or ABA) frifd #

} Ry fraia g emuiRa @ °
(1) s SREd

3. =9 % g B orgew, feied # &
Fr-a G 39 B T SR 78 6 ¢

(1) ST (2) fagaser
(3) HeRaT (4) SrgRRaT

4. 59 3 O AERA F90 GEAR] T
dqr ferr) w9 fll X gE@ T FEX
21 44 9 36 faw 4 3fF @ a8 H
;ﬁnmwﬁwﬁﬁmﬁﬁé’rm
(1) &7
(2) FEGFa ZHau™

(3) T

(4) 9T

Level-3/3321

1. Applied Behaviour Analys!
principles of :

(1) Classical conditioning
¢2) Operant conditioning
(3) Insightful learning

(4) Observational learning

2. If one activity occurs more often than

another. it can be used to reinforce the
activity that occurs less often. This
principle is known as

(1) Premack's principle
¢2) Thorndike's principle
(3) Skinner's principle
(4) Pavlov's principle

3. As classified by Bloom, which one of
the following is mor a subdomain of
cognitive domain ?
(1) Application
(3) Synthesis

(2) Analysis

t4) Responding

4. Kim changed her mobile number; and
got a new number. When some-one
asked her new number she could recall
only three digits of her new mobile
number. The cause behind it may be :
(1) Decay
£2) Proactive Interference
(3) Suppression

(4) Regression

B

P.T. 0.
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(1) oTesfars

(2) ar-faaE &1 g9

g #
TFR H

(3) Giiiedar/em

[4]

5.

10.

i ion is not a
ich of the following option s 1ol 3
zzg:zf?l:ristic of Autism Sp
Disorder ?
(1) Problem -in v
(2) Problem in s
(3) Problem in V
communication
4) Repetitive behaviour

ision and hearing
ocial interaction
erbal and nonverbal

The phrase, 'six on 0n¢ hapd, and _half a
dozeﬁ on o,thcr' best describes which of

i flict ?
the following type of con |
EI;;: Approach - Avoidance confhc'n
(2) Avoidance - Avoidance conflict

ach - Approach contflict
E’i; ggﬂlr;]):c App?gach - Avoidance
conflict
Which of the following is nof a form_ of
immaturity ~ of  thinking  during
adolescence as proposed by Elkind ?
(1) Idealism
(2) Argumentativeness
(3) Assertiveness
(4) Specialness

- Which of the following' is not a

democratic teaching strategy ?
(1) Problem solving (2) Project
(3) Discovery (4) Demonstration

Which law of 'Trial and Error' given by
Thorndike is similar to the concept of
reinforcement’ ?

(I) Law of Use

(2) Law of Disuse

(3) Law of Effect

(4) Law of Readiness

"At this stage of development; children

* think with their eyes, ears, hands and

other sense organs."

The above statement best describes
which of the following stage of
cognitive development ?

(1) Sensori motor stage

(2) Pre-operational stage

(3) Concrete operational stage

(4) Formal operational stage

"_’ .’ A — T m— - — .
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13.

14.

15,

16.

TTTTmEEEE N O . e XTI

%ﬂ“hrcqm a MRy Rl R om
(1) FA @ T am

(2) W @ Fea &

(3) = W gae &}

(4) aETH T I &N

fRsRt o1 98 Hegy &l @ft Al ol
3@ @ T W AT o R

(1) = Wus

(2) FEED aD

(3) GARREEAr [EE

(4) gt Er

= g @ PreRted 3§ @
| o A © 7

(1) g@‘rﬁmﬁlogmmﬁm
(2) ST A FHAA T B

(3) I IS W HAT -

4) %ﬂ%q&aﬁfmmaﬁﬁ

PR Ot @ Raew & "o A

=it § @ -1 U9 T8 76T & ¢

(1) 9% ®FFd O 9 T JHK 8

@) Rara=w & A AR S g%m
EER FQ & 98 TGS H e ¢

JORSLE qHTYE B aod SRR R
wrer B B

@) 3@ RS & aamwmﬁaaﬁw
WET e gl -

qﬁa&s%m—maﬁﬁw%mﬁﬂiﬁﬁ

¥ P-a1 Fd Frita 7@ o § 7

(1) srifts o

(2) e i

(3) THE gEE

(4) 3tz wd 2Em

Preifed # A AR we GRS

A <’ S A G @ 7

(1) imehe s

2) Friteemems st

(3) e faw

(4) g ST
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[S]

11.

12.

13.

14.

15.

16.

[B]

i sann B
The 'investment theory of creativity” 1%
given by :

(1) Binet and Simons
(2) Carrol and Cattle
(3) Sternberg and Lubart
(4) Watson and Ryncer
The feeling of adolescents,
looking at me", can be termed as :

(I) Personal fable

"Everyone is

(2) Imaginary audience

(3) Anorexia Nervosa
(4) Bulimia Nervosa

‘Which of the following is best indicator’

of high intelligence ?

(1) Scoring 103 on an IQ test

(2) Reciting poem from memory

(3) Earning high grades’

(4y Not making the same mistakes after
receiving feedback

Which of the following is not true about

Day Dreaming among adolescents ?

(1) Itisa form of active play.

(2) The roles adolescents adopt in da\

dreaming are heroic.

It involves more physical activity

than mental.

It involves more mental activity

than physical.

Which of the following is ot controlled

(3)
S

_ by pre-frontal cortex of brain ?

(1) Body Movement

(2) Thinking

(3) Problem solving

(4) Vision & Hearing

Which of the following concept is
derived from  famous '"Bobo  Doll'
experiment ?

(1) Insightful learning

(23 Observational learning

(3) Moral development

(4) Conditioned response

P.T.O.
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[B]
17.

18.

19.

20.

21,

ST @ anRafed @ % R
gmmmﬁ%zﬁﬁ—mam%
‘maﬂ’ﬁmﬁﬁﬂﬁ%?

(1) faamed 2 T

() FE (4) iy Rars
S @ (39) F G, T AT

(1) e STgHaT
) WWWWW

(1) gfe i g1 T & fe

(2) S ewmar gE = B oY

(3) I AFHAYT YIeal @ g

(4) e SEmaT g I & [T
FrieoTes St $ 9X adl B §8
FH TS ?

(1) ¥@UH — SIRERTT — g ST

— JA5dRT ~
(2) 399 — 8T S —> JA6HRA
— SRR
(3) °@gH — FAsdigd — GO HIAT
—
(4) SEYN — gROT HTAT — ST
— g0
WEE & HANKE fae & fFwid @
‘A ST & oTg-fEaR, oRead $
FHamES fawE @ g § 9 g
e & TAGA © 7

(1) R g9m efdvag
(2) @rEEar 9 91 Ud @i
(3) 9B 99M U arg

(4) = 3T ¥ 5 (Role Confusion)

Level-3/3321

[6]

17.

18.

19.

20.

" 21

heory

tems 1
Ecological sys
e the

which of
belong 1O Macro

According 1
of Bron fenbrenncr,

following does nof

system of the child ?

(1) School @) Values
(3) Laws (4) Customs
'is a part of :

The concept of 'Life Space’ 1s
(1) Classical conditioning
(2§ Operant conditioning

(3) Insightful learning

(4) Lewin's fi eld theory
'Modelling' is an effective teaching
method for :

(1) Children with visual impairment

() Children with Jearning disability
(3) Acid Attack Victims

'(4) Children with intellectual disability

What is the correct sequence of four

elements of observational learning ?

¢1) Attention —  Motivation —
Retention — Reproduction

(2) Attention —  Retention —

Reproduction — Motivation '

(3) Attention — Reproduction —
Retention — Motivation

—  Retention -

(4) Attention
Motivation — Reproduction

The age range of Genital Stage of
Freud's theory of Psycho-sexual
development is similar to which of the
following stage of Erikson's theory of
Psycho-social development ?

(1) Trust vs mistrust

(2) Autonomy vs shame & doubt

(3) Initiative vs guilt

{4) Identity vs role confusion
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22,

23.

24,

25.

26.

‘O Rt g8 wemr B
B o =R @ B ¥, @
56.

(1) =T s

Q) F g3fe
(3) ¥ FH
(4) SATARHRH

QR & 99 & P & § feea
P e T8 © 7

(1) 8 Read & & R 21 -
(2) & are @EaeRr ¥ afg #war 3
(3) B TH iRt IS |

- (4) F& AT A I B F R R

T 8 |
F«Tﬁ'r’r?m T q FN-E ReR ek
Je Bl &R e % 7
(1) SfcH® a9 are s
(2) T FK A9 THA HAT
(3) el w1 § 9-5ig $ fw S
(@) iy Jawghs e

i oW &
TE WA Teq W R T TE e ¥
g UF 2 -
(1) Feas 39F H

(2) AT Mas @ |

(3) SATH-YIEY /Uge™ &l

(8) TN T & |

Frifhd & @ -1 FoF aEieed &

TN-Aiae e & ded § 92 787

g7

(1) =3 s m%mﬁ%wm? @,
0 T THd &, I RUCEEES|
Fq g g

(2) T fTwm @ &=, 39 Reid &
TF 9 B ‘

(3) e A6F B TFRAS [Fa o
% Hewd Pl IV HIT & |

(4) T& GEeE e § wne ud

'-ﬁ@%aﬁsg\fmqrw%m%
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22,

23.

24,

25,

26.

[B]

‘ i that
"Young teen-agers often believe

they -arc completely unlike any 'one
clse.' This phenomenon is known as -
(1) Personal fable

(29 Imaginary Audience

(3) Self realization

(4) Self disclosure

Which of the following is nof true about
areward ?

¢l) Itisatype of bribe.

(2) Itincreases desirable behaviour.

(3) Itisa pleasant stimulus.

(4) It is given to strengthen the
response.

Which of the following is nmor an

example of fixed interval schedule of
reinforcement ?

(1) Getting salary every month

(2) Dialing a busy number

(3) Having a periodic dental checkups

(4) Getting increment every year

A teenager feels that no one has ever

been as deeply in love as he is. It

indicates : .

(1) Imaginary Audience

(2) Personal fable

(3) Self identity

(4) Identity crisis

Which of the following is nof true about

the socio-cultural theory of Vygotsky ?

(13 Children learn very little from
‘performing tasks they can already

~ do independently.

(2) Concept of Zone of Proximal
Development (ZPD) is a part of it.

(3) It ignores the importance of
language in cognitive development.

. (4) Tt emphasizes role of socio-cultural

environment in cognitive
development.

P..T*0.
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[B]
27. F=ited & @ B am-erepm
TGS AT W & 7

(1) e =
(2) RERR aEA
(3) dflo &
(4) dlo Tho Rewx
28. THNHF 9 U 48 F a7 gy 2 7
(1) &t Bl STgfR 1 ge @ 2
@) A A SRR B e S B
(3) T YA Rl o @l
Pl FSAIX ST 2|
(4) TS GAee [l oA @
Eﬁﬁfﬁ? TG § Efs &8 fHE
STIRRAT A §¢ ST S
29, UF T AN R AN WEUE @

&% I PR ARAT 3 ST 98 S i
H 3E e & R ¥l T8 e @
(1) FFan oga STgee &

(2) 9T STISET B
(3) FRi&omTHSs e &
(4) JTdRe S @

30. fr=ifhd # @ @9-41 FUA OO &
G faag 3 fosia @ @t d |@
& B ?

(1) 8 39 9T W Rd & %

' frepray wah ST WA 2 |

- (2) g8 39 9gaT W ongifa § & a=
AiHe T ST &R HEd

(3) ¥ 3 A W emHRd ¥ f%
fery T Foa ShE ) :

(4) & T A=A WG § .
HA [ = A 7 gt 2

(8]

27

28.

29.

30.

Which of the following is the founder of

Child Study Movement ?

(1) Alfred Binet

@) Theodore Simon

(3) G. Stanley Hall

(4) B. F. Skinner

What is the relationship between negative

reinforcement and punishment ?

(1) Bothtend to strengthen a response

(2» Both tend to weaken a response

(3) Negative reinforcement strengthens
a response whereas punishment
weakens a response.

(4) Negative reinforcement weakens a

response ~ whereas  punishment

: strengthens a response.
A child angrily hits a playmate in the
same way that he has been punished at
home. It is an example of :

(1) Operant conditioning

(2) Classical conditioning

(3) Observational learning

(4) Insightful learning

Which of the following statement is not

true about the theory of cognitive

development given by Jean Piaget ?

(1) It believes that development is a
discontinuous process.

(2 It assumes- that children leamn
through assimilation and
accommodation.

(3) It believes that development is a
continuous process.

(4) It  believes that  cognitive
development takes place in four

different stages.

Level-3/3321
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[B]
__ SE-1/PART -
(R o sih) / LANGUAGES (HIND! & ENGLISH)
[ &=/ HinD) |
ﬁé&r:ﬁw%awa?%aﬁvé##mma%ﬁ@mgﬁm
31. W @ ofe § o RERg g 35. TS T T G -
(1) Ryt + 2=3g= (1) FF T T w8 2
(2) 9 + g =Ugqd @ 3 R e
|
~ (3) "FF + 3 =wfey '
(i)ﬁ:ﬁnz . (3) dferdm T § e drad B
| R (4) 30 TEE BE F wF 9= @1 4 A
32. ‘TEAIT ¥ TEGH & oRe ¥ B A & & FaE
3| e SRR :
( )‘wﬁw% 3. 1 § & o few § df ams
(1) faaee, M, oifd, &9 = 3 7
A2) &1, %4, Fiid, s X
- (1) sirg 2)
(3) #H, i, foTee, &
3 4
(4) Fita, HH, foase, gor it S @ wgw
; " 7. UHdes § dgd9d 99 9K B g7
2 g
33. JE I 9 HYw 9= Bled o : _
G, (@) W s ) T
(3) ey (4) FRATE | o) @) T
34. ‘FAEH AR TH-GE H AF o A 38, P 9 A ‘qui aio @b a s
A A & e - IR A 7 gem ¥ ?
7 | Hatag g 7 o
(1) ¥ whe A
(2) d9red Haorg )
3) TEHCH
(3) AMA YiaAq _ 8
4) aﬁmaﬂﬂﬁ | G) : _
Level-3/3321 | L POy
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[B]

a0, ‘e e G A A FHA F - T
a faae @ oghe d fF e #
Cize R
(1) Tl (2) AT
(3) S (4) ¥ A FE A

g0, ‘FR A FE €@ @ & - A A g
() FeggaEs  (2) afHEgaras
(3) USTETEE  K4) J5UAES

M. T-RER B gRe § owm R
T

(1) @ & @F § S=Ra & ga9 @

3 g § Hife @ ooy & emaw

~

w® 9H WU Fedd g 9dih
Frea-fer @l & S=Eia

fomdg @t & am § fffd @

TR @ e ¢ |

(2)eﬁanaaﬁaﬁu@'ﬁ‘f%aaﬁs

Ty @ @ S S

(3) fF @l @ TR & & % @
T ofg Faa 7@ & P ®
IR G @Y FR S e
wafs B @i & JERT H 9
79 & w-ary e A o Feber

3% PR @ % o

,(4)%avhmﬁarﬁrﬁaaﬂfm '

% oafs 9 B 9 @ ofs avt wet
ot 21

[10]

43.

44,

45,

(3) AT
Fd @ & R T PE-EE-g
g7

(1) e ST AT

) ﬁiﬂ}ﬂ'ﬂ?&ﬁ'{w

(3) fe 8T &

(4) e, 1A T go

| @ gt @ A e o
g

(1) G &Ry e = e

(2) g § = A T = Gl
(3) 76 S g @ FAT T = T

(4) FIER & RIT 95 = GHRRYA

qfvg #l gt § oG [T gMg

() 99 + g% =R

2) Rigg + s = Rk

(3) T8 + g = JHAYR
(4) 9 '+ :nar'= S IGIE]

L Level-3/3321

B = SRR ) v a7 L § e i
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Direction : Answer the following questions by selecting the most appropriate option.

[11]

[B]

[ 331 / ENGLISH ]

46. Choose the correct form of the verb :

47.

Gymnastics «.vveeeeseenses my favourite
sport.

(1), 1s (2) are

(3) were {4) do

Which of the options given below is the
correct indirect form of the given

sentence ?

He said, 'l have passed the examination'.

J}}/He said ‘that he had passed the

~examination.

(2) He told I have passed.

3) He_ said he must have passed the

examination.

(4) He informed us of his passing.

48. Choose the word in which the prefix

dis — is incorrectly used :
A1) Disbelief

(2) Disobedience

(3) Discomfort

(4) Discussion

49. Choose the correct synonym of the

word 'contaminate’ :

(1) Defile (2) Rehabilitate
(3) Detach {4) Valid
Level-3/3321 '

50.

o1.

.3) The

52.

53.

The old man was tired of walking.

The underlined word in the sentence is

used asa:

(1) Participle
(2y Gerund
(3) Noun
(4)y Adverb

Choose the correct option for the blank
given : |

. He found her blue ford escort in the car

PRIK.. . iniiriins vehicle was locked and
 the lights were off.
(1) A (2) An
(4) Zero article

Chc;ose the correct plural of the word
'species':

=(1) Specis

(2) Species

(3) Speceis

(4) Specieses

Choose the word with the correct suffix
'ship' :

(1) Friendship
(2) Membership
(3) Relationship
(@) Argueship

P.T 0%
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[B]

54. Choose the correct past tense and past °

participle of the verb 'Begin' :
él) Began, Begun
(2) Begun, Begun
(3) Begin, Began
(4) Begun, Began
55. Chodse the correct form of the verb
'pla].,*' from the options below :

They (play) since four
O'clock. '

(1) have played
() will play
- (3) play

(49 have been playing

56. Choose the correct option of the

underlined phrasal verb :

We must cut down expenses or we will

be getting into debt.

(1) Reduce in size or amount
(2) Appear

(3 Expose |

" (4) Rise to the surface

_ Level-3/3321

57. Choosc the correct synonym of the

58,

59.

" 60.

word 'Pinnacle’:
(1) Peak 2) Pass

(3) Foothills  (4) Deep

They rested when evening came.

The underlined group of words in the

above sentence is a/an :
(1) Adjecti\}e‘clause

~ (2) Noun clause -

. (3) Adverb clausé ]

(4) Conjunction clause

Choose the correct prépbsition for the
‘blank given below :

She had great affection ......... .. her
grandchildren.

(1) within (2) into

(3) against (4) for
Complete the sentence using the correct

option :
George has travelled a lot. He

............

speak four languages.

(1) may 42) can

(3) need . 14) must not . _
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[B]

qpr - 1l / PART ~ 1li
AMS 3eaae / GENERAL STUDIES

e v, e ST qe A T e / QUANTITATIVE
APTITUDE REASONING ABILITY AND G.K. & AWARENESS ]

BT Ww#%m##ﬁqmaﬁaﬁmgﬁm

Direction : Answer the following questions by selecting the most appropriate option.
_r‘__________________——

% P, Q & E 8, R PHF AR S, T
718 8, T, Qﬂﬁﬁ%_,@fsiﬁﬂﬂ

M@”’

B .
b 1) R @) Q
oV o) T JORS

o | op f & @ FA-E1 9% "DICTIONARY"
&1 g0 3 aEd @ FAN R gL 7e A

o 8 ¢
(1) RATION  (2) DAIRY
£3) NATION  (4) ACTION

63. W% wen 10, 12, lsaﬂrlsﬁlf’r
hﬂmaﬁwwwaﬁ%: s

\L

\0 /g °\

(1) 876 £2) 900 Y47 53

(3) 981 4) 1024 5307
351331§ B

64, Fod widie o 7, CERTAIN' &1 =
7 YVIGZRM, S8 UENCE' G

g i HgJﬂvmxv' A MUNDANE

v (1) \IFMWZI\/IX (2) NEMWMZXX
) NFMWZMY (4) NFWMZMV

*}\/ _

65. Ru Mu T @ dgfi BT A
R & s @ Rig T Reel &

i, o R
: - & % = :
1).x++= @ —+x=
(@) +—x= @) x+=-

Level-3/3321

61. If P isbrother of Q, R is father of P, S is
brother of T. T is daughter of.Q, then
paternal uncle of Sis:

(1) R 2) Q
G T ) P

62. Which of the following words cannot
be formed by using letters of word

T N

"DICTIONARY" ?
(1). RATION
(3) NATION

(2) DAIRY
(4) ACTION
63. The least perfect square numbcr which

is exactly divisible by :

10, 12, 15 and 18
(2) 900

(4) 1024

(1) 876
(3) 981.
64. In a certain code, 'CERTAIN' is coded
as 'XVIGZRM', 'SEQUENCE' is coded
as 'HVIJFVMXV', then how would

'MUNDANE' be coded ?
(1) NFMWZMX 2) NFMWMZX

" (3) NEMWZMV (4) NFWMZMV

combination of

65. Select the correct
mathematical signs to replace *' signs
and to balance the given equation : A A”
Y = 4 = e°\ '1-/‘],
g*7%2%3*10 D
4 - K w L} x
. g
gy H-x= 4) x+=- g )
P.T.O.
Q\ -}-'-']""G
\6-6
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66.

67.

CH M ARSRD BH G A
FHEERISFRD A ae9 C &, @t B
AR E 1 w1 g & 7

() F 2)
@) o @
10§ Q0 § 8% T 3, s e

g% U P s RRmy g9 Breor &
q 4% @ 91 ?

(1) 61X (2) 8
(3) 10 R 4) 15

68. UF o 3 H TEAr 4p3 H 984 gy
W TF AR &l H q&A 13q7 9 et
R13R 13q7, 11 959 3, & q—p) a0
o9 BN
(1) 8 ) 9
(3) 7 “) 11

69. "BRIGHTER" 91 & a1t} & frqsy 09

' M ¢, Pea 99 I & oer ¥ R
i ofIsT gofrrer & e B ?
(1) 4 @ 2
3) 1 “4) 3

70. I B #s amr & 'pit dar na' H
areqd “M =B &, 'dar tok pa' FH
e “arem AR A 'tim na tok' @
W“&ﬂ%%”l(ﬂﬁﬂ'@ﬁ“ﬁ”*@
BA-A1 91 7 |
(1) tim (2) tok
(3) na (4) pit

Level-3/3321

[14]

i i A8

66. A is the father of C

67.

/(2) 10 litres

W &
ny

and D is the son of
B. I is the brother of A. If Cis the sister
of D, how is B related to IE?

(1) Daughter {‘ﬁ) Brother-in-law

(3) Husband  _fA4) Sister-in-law

10 litres of milk contains 8% watcr. What
quantity of pure milk should be added to
this mixture to reduce this to 4% water ?

\o |

Y

(1) 6 litres (2) 8 litres

(4) 15 litres

@ A three digit number 4p3 is added to

69.

70.

984 to get a four digit number 13q7. If
13q7 is divisible by 11, then the value

of (q - p) will be :

(ﬁ) 9w
@ 11

(1) 8
37
How many pairs of the letters does the
word "BRIGHTER" contain in such that
the two letters of the pair have as many
letters between them in -the word as
there are in the English al phabet ?

(1) 4 (2) 2«
(3) 1 “4) 3

If in a code language 'pit dzﬁ’ na' means

3°'°°‘

3 and
"you are good", 'dar l(g‘l? a', means
"good and bad", 'tim na tok' means
n I ans-
they are bad", In the same language

- which word stands for “they" ?

| S tim

(2) ‘tok

(3) na (4) pit
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7.

.

73.

TSy

T& 94, ﬁﬁ?ﬁiﬁzﬁewﬁl
uv%ﬁ?nm“’t mm@@

SRR it oo MY} R, A
Rer ot ¥ 79 A R 39 i

(1) 10 g
() 12 REi/A
(3) 13 AT
@) 15 R /e

& sind-cosdA=0" & @
sin' A+cos* 4 & A= o -

1) 0 Q) 1

S

) )

o | -

W T B, SO-UREH @
T R a3 SR o o @ B, @
‘THT B F Fel S ?

(1) =i (2) IT-UiREH
(3) - (4) T
74. TR AHEER ©fc # @R @ ASE
TAT: 50% a4l 20% do Sl 8,
mmaquﬁaﬁ?
1 2
(D 3 (2) 3
1 4
(3) 3 4) E

- Level-3/3321

71.

72.

73.

74.

F SIS FIFIF s ITTIEE

[B]

A boat

covers a certain distance

e oo .
downstream in = hour, while it comes
2

. 1
back in 1; hours. If the speed of the

strecam be S kmph. What is the speed of
the boat in still water ?

(1) 10 kmph
(2) 12 kmph
(3) 13 kmph
(4) 15 kmph

If sinA—cosA =0, then the value of
sin* A+cos}4 A is

1) 0 Q)/l
1 3
3) 3 il

If 'South-East' is called 'East', North-
West is called 'West' 'South-West' is
called 'South' and so on, what will
"North' be called ?

(1) South £2) North-West

(3) North-East  (4) North

If the length and breadth of a
rectangular plot be increased by 50%
and 20% respectively, then how many
times will its area be increased ?

(N ’ P

L | —

(4)

wh | —

G)

wnls ww

P. T.0.
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75.

76.

g X4 g g (4 2ox)
A 7 2y+.\-J ol
B
1y 1 2 3

B (2) 5

1
(3) . 4) 1

28 9™ & UL, 42 ¥9 3 T 7 21 HHR
% 951 F U 3 AR W 39 gET @
T A S B 56d adw o § dAd
% Bl 991 & 99 Hem 9 F

(1) 9 @) 10
(3) 11 4) 13
77. A% 99 B ¥ g a4 B @ ¥ C
T &, 9 Bl gl @ C, 54 e
T T &, & BN G99 § 99 Ham 7
(1) 9T e (2) 18 fHAe
(3) 12FFe (4) 152 ,
78. UF S o194 O & 14 a9 &g § g9
3 @ 99 9%, IH Y A 93 &
A & g BRI @ 9 & JOE g
FAMe? .
(1) 839 (2) 10 o
(3) 12 9§ (4) 14 a9 |
79. “Edl ¥ e qUi e S &g -
10, 12, 28,-90, 360, 1850
1) 12 () 28
(3) 90 (4) 360
80. TF &M, A 4 C & FAT #1 o
2:1 2% A g B3 99 fFRg &
AU 3 : 2 B AR IH W A T
1,573 81, @1 B &I foraem &= Perm ?
(1) 363 %o (2) 484 %0
(3) 605 %0 (4) 726 %o
Level-3/3321

~ 1 ap

76.

78.

79.

%

80.

_A3Y Rs. 605

L

\

12
|

o

4 - }
If —=—, then value of | ——— |
) ] \ / —l-} =+ x,

- ¥

1 3
(1) = 2 =

7 7
3 (4 1

o5

There are 28 mango trees, 42 apple trees

and 21 orange trees have to be planted in
rows such that each row contains the
same number of trees of one varety
only. The minimum number of rows in
which the above trees may be planted is :

(1) 9 _2) 10
3) 11 (4) 13

A is twice as fast as B and B is thrice as
fast as C. If some distance is covered by
C in 54 minutes, then in how much time
will B cover ?
(1) 9 minutes
(3) 12 minutes

£) 18 minutes
(4) 15 minutes
A man is 14 years older than his son.
After two years, his age will be twice
the age of his son. The present age of

his sonis : K
- (1) 8 years (2) 10 years S
67 12 years 4) 14years ’

Find the wrong number in the series : 1°

10,12, 28, 90, 360, 1850 o
()12 (2) 28 =
(3) 90 (4) 360

In a business, A and C invested amounts

in the ratio 2 : 1, whereas the ratio
between amounts invested by A and B 7k
was 3 : 2. If their total profit is Rs. 1,573.

How much amount B will receive ?
(1) Rs.363 (2) Rs.484
(4) Rs. 726 -
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81. fHiE ® A it

82.

83.

84.

85.

_ B Brell

A, TR MG R () gEda
PR AT

B. dex off% ufRwld (i) favan
PR witad

C. ¥ex oy ofeaad (i) #98R
B e

D. 3RRe  P-FfRFT (iv) T
qauHe T

7 FE g

g B ~C D
() () G @) @v)
) () @) G) (v
(3) (v) @) i) ()
4 (v) @) G) @)

Rewrdl, frem 2018 & e @ &
¥ q&& S ¢

(1) &1 Mo

(2) T g

(3) fa@ra Fo1 AR

(4) & g

Frefifaa & & @i-wr Rb@ o
geais (Fo wfo s=go) T« & 7

(1) s - () Y

(3) WFHEFY (4) Brmr _
5 Rl aa SRS A 1857 & il
3 frow oTepT & Sge AT

(1) 9o (2) BdH

(3) Ham (4) A

do IR g » AR F Frffed § |
P81 A T 8 ¢

mwsz@wsama’rww%
qed @ |

Level-3/3321

[17]

R i I

[B]
81. Match the following :
Center District
A, Center of Excellence (iy’ Kurukshetra
for Vegetable /

B. Center of Excellence \[ii) Sirsa
for Flowers
C. Center of Ii\cccllcnci 4ii) Jhajjar
for Fruits
D. Integrated Bee-keeping >}1' /) Karnal
Development Center
Choose the correct code :
A B C D
M @) @) i) (i)
) () (i) (D) V)
~B3) (v) (i) () O
) v G @) 0
82. The player who won the Gold medal in
the Asian Games-2018 :
(1) Neha Goyal
(2) Bajrang Punia
(3) Vikas Krishan Yadav
(4) Seema Poonia
83. Which of the following is a Painted
Grey Ware (PGW) site ?
(1) Banawali (2) Balu
£3) Bhagawanpura (4) Bhirrana
84. The region in which Colonel Gerrard
led the counter attack against 1857
revolutionaries :
1) Panipat (2) Rohtak
(3) Mewat (4) Narnaul
Which of the following statements
about Pt. Neki Ram Sharma is nof true ?
(1) Pt. Neki Ram Sharma played a vital
role in the Home Rule Movement
of Lokmanya Tilak.
He organized a public meeting of
Gandhiji at Bhiwani during Non-
cooperation Movement.
He published a Hindi Weekly
'Sandesh' from Bhiwani.
He was a Rajya Sabha Member
from 1952 to 1956.

85.

(2)

P.T.0.
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[B] [18]
86. Preitiftgd & @ @-dt Rer TR o 86. Which of the following rivulets docs
gaed 78 2 & ? ' not converge into Sahibi ?
(1) & ) FaES (1) Dohan (2) Kasavati /
(3) = 4) gam'(ﬁ (3) Indori (4) Drishadvati
87. SVMI-2011 & YR W BRawm @ 87. The male literacy rate of Haryana as per
JoY 9RIr X e the census-2011 is :
(1) 75.6% 2) 65.9% (1) 75.6% 2) 65.9%
/A3) 84.1% 4) 71.4% (3) 84.1% 4) 71.4%
88. f=ifafgd ¥ & foF T=af & a9 “Faret 88. With which of the following states, the
UL " IO ST R § 7 "Kalesar National Park" shares its
boundary ?
(i) fowmae R (i) Himachal Pradesh
(ii) ITES (i) Uttrakhand
(iii) o i) Rajasthan
(iv) 9o (iv) Punjab -
@& S Eﬁq - Choose the correct answer !
(1) @A Gv)  (2) @) (i) ‘ﬂ) (1) & (iv) (2) ()& (i)
(3) (i) @& (iv) (4) e (iv) - @) (&G  (4) Only(iv)
89. frfefad & & #m-@ waw ‘S 89. Which of the following crops does not
RUE AT & SFrid ardafed 7er @ cover under the 'Bhavantar Bharpayee
! ~ Yojana'? ' :
(1) 7= (2) &g (1) Sugarcane  (2) Potato
3) Ern?{ (4) @ __ (3) Tomato A4) Onion
| 90. ‘TEgHH fEE e AW # R # 90. Consider the following statements about
:‘ Frfafaa ot | R $Hifw : the 'Mukhya Mantri Vivah Shagun
' @ @ g & g 3 fEe sl Yojana': _
i 51,000 FEI'QI P T fRar smar (@) For the marriage of the daughter of
2l . a widow a grant of Rs. 51,000 is
(b) % R ofewr @ afis o o wakided.
T B9Y | F9 B ey | (b) The income of such widow lady
] SFT F A PH-ar T g DA 7 .must be less than one lac per annum.
-' (1) 39T ()& ¢ Which of the above statements is/are
_ correct ?
1 @) F (b) T B .
3 T (e . (1) Only (a) is correct.
@) T3 18 z’:\-—:f{f @ (b) T & (2) Only (b) is correct.
(#) @7 (b) 3 W (3) Neither (a) nor (b) is correct,
—£4) Both (a) and (b) are correct.
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